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9 def substitutionEncrypt(plainText,key):

10 alphabet = "abcdefghijklmnopgrstuvwxyz "
11 plainText = plainText.lower()

12 cipherText = ""

13 for ch in plainText:

14 idx = alphabet.find(ch)

15 cipherText = cipherText + key[idx]
16 return cipherText

17

18 def substitutionDecrypt (cypherText, key):

19 alphabet = "abcdefghijklmnopgrstuvwxyz "
20 plainText = cypherText.lower()

21 cipherText = ""

22 for ch in plainText:

23 idx = alphabet.find(ch)

24 if(idx==26):

25 "

26 else:

27 idx=1dx%26

28

29 cipherText=cipherText + key[idx]
38 return cipherText

31

32

33

34 originalMessage = "the quick brown fox"

35 testKey = "zyxwvutsrgponmlkjihgfedcba
36 cipher = substitutionEncrypt(originalMessage, testKey)

37 print("Original: ", originalMessage)
38 print("Ciphertext:", cipher)

39

40

41 decrypt=substitutionDecrypt(cipher,testKey)
42

43 print("Cipher is:",cipher)

44 print("Original is:", decrypt)

Results

Original:  the quick brown fox
Ciphertext: gsv jfrxp yildm ulc
Cipher is: gsv jfrxp yildm ulc
Original is: the quick brown fox




